
Lecture 21

Last Time : Isolated system goes to macrostak

~I Idrgest N (or S = kpenW) because

it is the most probable (most microstates)

E = const
.

Is law

· S(+ >0) ? S(t = 0( or AS = O 2nd law

· lims = 0 (w = 1) 3rd law
E- min

qx :

gens S = nRen(V) - nRen(Vo)
↑
extensive

ko and R = conversion factors from Kelvin

to Joules or Joules per
mole

Today
: What is temperature I ?
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ECS) are monotonically
increasing functions and they contain

equivalent information .
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or solve for S :

dS = I dE + Ed - dnt ...

meaning of the derivatives
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ex : temperature

SCE)= monotonic function

T = O
3

what does it mean ?

We allow energy
= "heat" to-

ated
site

flow bH sys 1 3 2

- Sys 1 + sys2 are isolated
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"Temperature is the thing thats equal on both sided

when heat is allowed to flow .

"

on Ank : "pressure is the thing that's equal
on both sides when volume is allowed

to change .

"

"

Chemical potential is the thing that's equal
on both sides when particles are
allowed to flow .

"


